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1 KGE 103863211012260 380 081200 TTENRZSEAR E=k ]
2 e 103863211012299 367 081200 HENMZEEREAR E=k ]
3 R 103863211012317 366 081200 TTENRZSEAR E=k ]
4 BR AT 103863211012160 361 081200 TTENRZSEAR E=k ]
5 BivICE 103863211012312 361 081200 TTENRZSEAR E=k ]
6 BB 103863211012199 358 081200 TTENRZSEAR E=k ]
7 R 103863211012305 356 081200 TTENRZSEAR E=k ]
8 PR 103863211012191 354 081200 TENRZSHEAR cA=Fl
9 =8 103863211012200 349 081200 TTENRZSEAR £ H
10 5K 8% 103863211012091 348 081200 TENRZSHEAR £ H
11 Ed) 103863211012211 347 081200 TTENRZSHEAR cA=Fl
12 PRER 103863211012149 347 081200 TTENRZSEAR £ H
13 FHEX 103863211012243 343 081200 TTENRZSHEAR cA=Fl
14 pUES 103863211012176 343 081200 TTENRZSHEAR £ H
15 i 103863211012318 343 081200 TTENRZSHEAR £ H
16 pUEE 103863211012267 341 081200 TTENRZSHEAR £ H
17 X &R 103863211012090 341 081200 TTENRZSHEAR Ea=kl
18 SRR 103863211012028 338 081200 TTENRZSHEAR Ea=kl
19 Eprisas 103863211012170 336 081200 TTENRZSHEAR Ea=kl

20 (594 103863211012066 334 081200 TTENRZSHEAR Ea=kl
21 RETF 103863211012234 333 081200 TENRZSHEAR £ H
22 BRE 103863211012311 333 081200 TTENRZSHEAR £ H
23 BHE 103863211012268 332 081200 TTENRZSHEAR ea=k
24 MWEE 103863211012265 330 081200 TTENRZSHEAR ea=k
25 REM 103863211012101 328 081200 TTENRZSHEAR ea=k
26 (%0 103863211012207 325 081200 TTENRZSHEAR ea=k
27 BiER 103863211012153 322 081200 TTENRZSHEAR ea=k
28 ERE 103863211012025 321 081200 TTENRZSHEAR ea=k
29 MIEE 103863211012052 321 081200 TTENRZSHEAR ea=k




30 BRiZ 103863211012223 321 081200 TENMZEEREAR ea=L
31 Eib 103863211012014 320 081200 HTENMZEEREAR ea=L
32 ANEFC 103863211012044 319 081200 HTENMZEEREAR Ea=L
33 RIS 103863211012148 319 081200 HENMZEEREAR ea=L
34 MoK 103863211012279 319 081200 HENMZEEREAR Ea=L
35 BN 103863211012220 315 081200 HTENMZEEREAR Ea=L
36 LR 103863211012263 314 081200 HENMMZEEREAR ea=L
37 BER 103863211012325 314 081200 HENMZEEREAR Ea=L
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40 EE 103863211012127 310 081200 HTENMMZEEREAR Ea=L
41 s 103863211012173 310 081200 HENRZEREAR Ea=L
42 Rk 103863211012242 309 081200 HENMMZEEREAR Ea=L
43 BETE 103863211012275 309 081200 HENRZEREAR Ea=L
44 EAE58 103863211012303 308 081200 HENRZEEREAR Ea=L
45 XF1E 103863211012338 308 081200 HENMMZEEREAR Ea=L
46 FB B 2 103863211012144 308 081200 HENMZEEEAR Ea=L
47 A% 103863211012213 307 081200 HENRZEEREAR Ea=kl
48 KT 103863211012068 306 081200 HENRZEREA Ea=kl
49 w3 103863211012071 306 081200 TENRZSHA =k
50 FER 103863211012203 306 081200 HENRZEEREAR Ea=kl
51 pUE 103863211012392 349 083500 BMHIE Ea=kl
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